
Számrendszerek 

Gyakorló feladatok 

 

10101010(2 =  ............................................................ (10 

10011010(2 =  ......................................................... (10 

214(10 =  ................................................................... (2 

218(10 =  ................................................................... (2 

A19C(16 =  .............................................................. (10 

B18C(16 =  .............................................................. (10 

1724(10 =  ............................................................... (16 

1980(10 =  ............................................................... (16 

1010111100110101100001101(2 =  ....................... (16 

1010111100000110110110111 (2 =  ...................... (16 

30F4C25(16 =  .......................................................... (2 

3F40C25(16 =  .......................................................... (2 


